

EUROPE'S BIGGEST CARPET SPECIALISTS QUOTATION ONLY

Store

CLAPHAM 168 - 170 HIGH ST CLAPHAM SW4 7UG 0207 627 3039

Customer Details

MR P BROWN - CONSTABLE FLAT 7 MITRE HOUSE 124 KINGS ROAD SW3 4TP 07983333543 07983333543

Customer Copy

Page 1

Date 08/06/12 Order number 0404111008904 Sales Advisor Norman Crosby Estimated by Will Santos Fitting Store CLAPHAM

Description of Goods	Size	Quantity	Unit Price	Total
ELITE TWIST 4M 285 SUEDE SE	20.40 Linear	81.60 M2	18.99 M2	1,549.58
Week 5 Madness				-309.92
ELITE TWIST 4M 285 SUEDE SE	10.90 Linear	43.60 M2	18.99 M2	827.96
Week 5 Madness				-165.60
SUPER REALM UNDERLAY 1.37M	120.00 Sq. M	120.00 M2	6.99 M2	838.80
DUAL PURPOSE GRIPPER 1.524 LM		140.00 Linear	1.49 Linea	208.60
DOUBLE SYN 2.7M TXM30.9G		3.00 Each	17.99 Each	53.97
SINGLE SYN 2.7M TXM20.9G		1.00 Each	17.99 Each	17.99
SINGLE SYN 0.91M TXM20.3G		9.00 Each	7.99 Each	71.91
INV CARPET DELIVERY CHARGE EA		1.00 Each	29.00 Each	29.00
INV HALL STAIRS LANDING CHARGE		1.00 Each	35.00 Each	35.00
INV FITTING DEPOSIT CHARGE CARPET M2	125.20 Sq. M	125.20 M2	0.36 M2	45.07
Continued				

Total payments received 0.00 **Outstanding Balance** 0.00

Delivery address (if different from above)

Instructions and requests

ESTIMATE BASED ON CARPET AT £15.19 PER M2 INCLUDES TRIM DOORS **GLUEING GRIPPER RODS**

PLEASE HELP US TO HELP YOU:

Please ensure there is adequate access for delivery Floorcoverings: To ensure satisfactory fitting rooms must be cleared of furniture and old floorcoverings prior to the fitter's arrival

Total Sale £

3,532.36

THIS IS NOT AN INVOICE. NO PAYMENT MAY BE TAKEN AGAINST THIS DOCUMENT

Goods prepared to fulfil the order must be paid for prior to delivery

We act as agents for independent delivery and fitting contractors and can arrange for one of these to deliver and/or fit your purchase under a separate agreement between you and them. Delivery and fitting is chargeable and may be payable as part of the order price (as above) or directly (as below). We retain full responsibility for the products and services we supply and your contractor is responsible for the standard and quality of, and any liability arising from, delivery and/or installation.

If you wish to accept this arrangement the payment direct to the contractor on satisfactory completion of the work will be:

875.53 £

The terms and conditions on both sides of this order apply

Please check the information on both sides of this order to ensure it is accurate. If there is anything which you do not understand or to which you do not agree please discuss it with your sales adviser before signing below to place your order:

Customer's Signature

Thank you for your order

Carpets and Vinyls are cut at 10cm intervals

We will use the above information to process and service your order and this may involve passing some of the information to third parties (for example, for delivery). Your information will be held securely and confidentially and in accordance with the relevant legal requirements. In addition to this we will only use it to send details of special offers and other information to you if you have consented to receive such information.

If you wish to remove your name from our mailing list at any time please telephone or write to your branch accordingly.

THIS IS NOT A VAT INVOICE

CARPET INTERIORS 13 BUTE STREET **SW7 3EY**

T 7581-4999

F 7581-1919

QUOTATION

PAUL BROWN CONSTABLE 7 MITRE HOUSE 124 KINGS ROAD LONDON SW3 4TP

RE COMMON PARTS

DATE 15/03/2013

Quotation No: 30068

WE ACKNOWLEDGE AND THANK YOU FOR YOUR ENQUIRY AND HAVE PLEASURE IN SUBMITTING OUR QUOTATION:

TO CLOSE COVER THE HALL, STAIRS AND LANDINGS FROM THE GROUND FLOOR UP TO AND INCLUDING THE THIRD FLOOR

USING HAMPSHIRE CONTRACT QUALITY CARPET COLOUR TO BE CONFIRMED

INCLUSIVE OF (CARPET TO BE TURNED UNDER AT SIDES) UNDERLAY S/EDGE STICKING S/EDGE DOOR PLATES COIR MATTING TO THE ENTRANCE LOBBY

> SUB-TOTAL £ 6'946.89 VAT @ 20% £ 1'389.38

TOTAL £ 8'336.27

VAT NO 735 48 1228

19 March 2013

Reference 36657635

Mr P BROWN CONSTABLE Flat 7 Mitre House 124 Kings Road Chelsea LONDON SW3 4TP

Dear Mr BROWN CONSTABLE

Thank you for your recent enquiry. We have pleasure in enclosing our estimate for supplying and fitting new floor covering. If you wish to discuss any matter concerning this estimate or wish to see the plans, please contact the Floor Coverings department on the telephone number below.

If you would like to accept the estimate please complete the attached acceptance form and return it to us in the pre-paid envelope. If you do not wish us to carry out all the additional services listed then please complete the 'Additional Services' section of the Acceptance form. You may also fax your acceptance to us on the number below.

Prices shown on this estimate are valid for 28 days from the above date but are subject to amendment if the rate of Value Added Tax changes.

"NEVER KNOWINGLY UNDERSOLD"

The pricing policy of John Lewis department stores is to offer the best possible value on the wide range of goods we sell. For your floor coverings, we will match any competitive estimate from another shop in the UK using the same materials, even if it offers free fitting.

Yours sincerely

Floor coverings department

Extension: 020 7730 3434 option 4

Fax: 020 7881 6480

Email: floorcoverings peter jones@johnlewis.co.uk

Estimate Number 36657635/1	Area 1
Corridor, Corridor 2, Corridor 3, Hall, Landing, Landing 2, Landing 3, Stairway	
Materials	
Wool Rich Plains Twist 60 @ £35.00 per sq m Colour Dark Grey	£5232.50
JL Green Sponge Underlay @ £8.95 per sq m	£873.87
Charge for materials	£6106.37
Preparation, Fitting, and Services	
Supply & fit Double Edging, Copy Brass, 2.7m	£60.00
Supply & fit Single Edging, Copy Brass, 0.9m	£130.00
Supply & fit Single Edging, Copy Brass, 2.7m	£60.00
Fit carpet HSL complexity charge	£160.00
Fit gripper by drilling/plugging/glueing per lin m	£780.00
Parking charge	£100.00
Restricted access charge	£40.00
Fit carpet on hall, stairs, landing	£520.85
Fit carpet per square metre	£226.60
Charge for preparation, fitting, and services	£2077.45
Total charge for area 1	£8183.82
Total charge for estimate 1 (all areas)	£8183.82